Virginia High School League

Scholastic Bowl, 2000-01 season

State Competition, Match #9


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the State level by Shawn Pickrell. These questions are to be used by the Virginia High School League to conduct their Scholastic Bowl competition under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the Statecompetition or the schools that are members of the given State before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
THIS IS A COMPUTATION QUESTION. A man and woman sign a prenuptial agreement to split all assets gained during the marriage 50-50 and for the wife to get 25% of all pre-marriage assets of the husband if he committed adultery. Well, the husband, who was worth $5 million before the marriage, commits adultery. The wife was worth $2 million before the marriage, and the couple are now worth $25 million. How much does the wife get in the divorce settlement from the husband?

ANSWER: $11.25 MILLION ($1.25 from the hubby – adultery and $9 million from assets gained in marriage)

2.
What is the name of the chemical markers that function between animals of the same species, and which are used to act as alarm substances, act as territorial markers or most notably to attract mates?

ANSWER: PHEROMONES 

3.
The man standing with a pitchfork in the painting American Gothic looks like a stern father. However, he was actually a practitioner of what branch of medicine?

ANSWER: DENTISTRY
First period (continued)

4.
Who is the British comic writer that wrote the books Mostly Harmless, The Long Dark Tea-Time of the Soul, So Long and Thanks for all the Fish and The Hitchhiker’s Guide to the Galaxy?

ANSWER: Douglas ADAMS
5.
This name was shared by two British Prime Ministers of the late 18th century, one who held the title during the Seven Years’ War, the other who held the title for twenty years in two terms, over the period 1783 to 1806. What was the shared name of these two men, one called the Elder, the other, the Younger?

ANSWER: William PITT
6.
What was the name given to the official who ruled the Republic of Venice during late medieval times?

ANSWER: DOGE (daw-JUH)

7.
What short novel by C.S. Lewis is a series of correspondences between a junior devil and his uncle, a more senior devil for whom the book is named?

ANSWER: The SCREWTAPE LETTERS
8.
Epimetheus had a wife who let her curiousity overcome her. Who was this woman who opened the box she had been told not to open?

ANSWER: PANDORA
9.
What is the name given to the strong pressure wave in any elastic medium such as air, water or a solid, produced by, among other things, explosions, lightning, breaking the sound barrier, or any phenomenon that causes a violent change in pressure?

ANSWER: SHOCKWAVE
First period (continued)

10.
THIS IS A COMPUTATION QUESTION. A line has a y-intercept of 4 and a slope of 2/3. What is this line’s equation in the form Ax + By = C, where A, B and C are integers and A is non-negative?

ANSWER: 2X – 3Y = 12 (y = 2/3X + 4 yields –2/3X + Y = 4 yields 2/3X – Y = 4 yields 2X – 3Y = 12)

11.
American Airlines announced in January that it wanted to buy out what financially-strapped airline?

ANSWER: TRANS WORLD Airlines or TWA
12.
What number indicates how a gasoline will behave with regard to knocking, when compared with a test fuel that is given an arbitrary rating of 100?

ANSWER: OCTANE rating

13.
THIS IS A COMPUTATION QUESTION. What is the area of the portion of a circle with radius 12 bounded by a 120-degree angle with its vertex at the circle’s center?

ANSWER: 48PI square inches
14.
Julius and Ethel were what husband-and-wife pair that were executed in 1953 for providing the Soviet Union with atomic secrets that enabled them to detonate an atomic bomb?

ANSWER: ROSENBERG
15.
This corpulent, orchid-raising detective was the protagonist of 46 mystery stories by Rex Stout. Who was this detective who assigned his associate Archie Goodwin to actually do the legwork, while solving the mysteries from his apartment?

ANSWER: NERO WOLFE
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
THIS IS A COMPUTATION QUESTION. What is the area in square inches of a circle inscribed within a square that is 1 foot on each side?

ANSWER: 36 SQUARE INCHES (the diameter of the circle is 12 inches, so the radius is 6 inches)

1B.
What is the name of the largest artery in the human body?

ANSWER: AORTA
2A.
Who was the white President of South Africa that oversaw the ending of apartheid and shared a Nobel Peace Prize with Nelson Mandela?

ANSWER: F.W. DE KLERK

2B.
What seven-letter word starting with L is used to describe someone who does not talk much and expresses much in few words?

ANSWER: LACONIC
3A.
What author of The Second Sex was a longtime companion to Jean-Paul Sartre and one of the founding mothers of modern feminism?

ANSWER: Simone de BEAUVOIR
3B.
Primavera and The Adoration of the Magi are two lesser-known works from what artist of The Birth of Venus?

ANSWER: Sandro BOTTICELLI
4A.
A piano trio is music written for a piano and what two stringed instruments?

ANSWER: VIOLIN and CELLO
4B.
A portion of the Compromise of 1850 was the complete abolishment of the slave trade in what slave territory?

ANSWER: WASHINGTON, DC or the DISTRICT OF COLUMBIA
Second period (continued)
5A.
What is the name of the force that resists the sliding or rolling of one solid object over another?

ANSWER: FRICTION
5B.
THIS IS A COMPUTATION QUESTION. A woman has eight shirts, five pants and two coats to wear. How many different outfits does she have? 

ANSWER: 80
6A.
THIS IS A COMPUTATION QUESTION. How many factors of 3 are between the numbers 40 and 50?

ANSWER: THREE (42, 45, 48)

6B.
What name is given to the netlike filaments that form the body of fungi?

ANSWER: HYPHAE
7A.
How many articles were in the original Constitution?

ANSWER: SEVEN
7B.
What eight-letter word from the Latin word for praise means worthy of being praised or commendable?

ANSWER: LAUDABLE
8A.
Where is the comma in this sentence? He is a strong, healthy man?

ANSWER: BETWEEN STRONG AND HEALTHY
8B.
Leonid Kuchma is the president of what third-largest former Soviet republic?

ANSWER: the UKRAINE 

Second period (continued)

9A.
Who is the Danish philosopher that wrote Either/Or?

ANSWER: Soren KIERKEGAARD
9B.
What is the capital of New Mexico?

ANSWER: SANTA FE
10A.
What is the name given to a gas that does not behave as the ideal gas laws would have the observer expect?

ANSWER: REAL gas

10B.
THIS IS A COMPUTATION QUESTION. What is the derivative of the function y equals e to the 2x + 5?

ANSWER: 2 TIMES E TO THE X
Third period: 15 toss-ups 

1.
What term is given to a set of sequenced tasks waiting for execution, such as a list of print jobs?

ANSWER: QUEUE
2.
Mexico was promised the return of the ‘lost territories’ of Texas, New Mexico and Arizona if Mexico were to join World War I against the United States. This was the content of what ‘Note’ send from Germany to World War I in March 1917?

ANSWER: The ZIMMERMAN note

3.
Despite its name, Hayden wrote about 60 more symphonies. What is this nickname given to the 45th Symphony by Haydn, which despite its title, did not represent his departure from composing?

ANSWER: FAREWELL symphony

4.
What name is given to the region of turbulence to the rear of a solid body moving through a liquid or gas, caused by the flow of the liquid or gas around the body, such as that which follows an airplane or boat?

ANSWER: WAKE
5.
This man, depending on the version of the story, obtains knowledge, power, or the love of the village maiden Margaret in exchange for his soul. Who is this man that is sometimes redeemed and sometimes condemned after he makes a pact with Mephistopheles?

ANSWER: FAUST (accept Faustus, Doctor Faustus as those are names he has also gone by)

6.
Lost In Yonkers, Biloxi Blues and The Odd Couple are all plays by what American playwright?

ANSWER: Neil SIMON
7.
What name is given to the breaking up of molecules into smaller molecules at high temperatures with the assistance of a catalyst?

ANSWER: CATALYTIC CRACKING
Third period (continued)
8.
THIS IS A COMPUTATION QUESTION. A concert hall has 10,000 seats. If show is expected to be a sellout, and the band requires $500,000 for all expenses save rent. If the rent of the place is $100,000, how much do tickets need to be worth for the promoter to make $100,000?

ANSWER: $70 ($600,000 of costs plus $100,000 in profits equals $700,000. Divide by 10,000 and get $70)

9.
Who was the Spartan king that fought with his three hundred men to the death at the battle of Thermopylae?

ANSWER: LEONIDAS
10.
This couple’s marriage breakup was headlined ‘Marriage: Impossible’ on MrShowbiz.com (Mr Showbiz dot com). Who is this famous couple that cited career concerns when they announced their separation on February 5?

ANSWER: Tom CRUISE / Nicole KIDMAN
11.
THIS IS A COMPUTATION QUESTION. What is, in terms of x, y and z, the surface area of a rectangular solid with width x, height y and depth z?

ANSWER: 2xy + 2xz + 2yz 

12.
The Dartmouth arrived in Boston Harbor on November 27, 1773. It remained until the evening of December 16th, when the son of the ship’s owner announced that the ship’s cargo would not be unloaded without paying the tax. At that point, a group of men disguised as Mohawk Indians rushed to Griffin’s Wharf and dumped all 342 chests of cargo into the harbor in what famous activity?

ANSWER: BOSTON TEA PARTY
13.
The Death Star destroyed in Return of the Jedi was orbiting the third moon of what planet?

ANSWER: ENDOR
Third period (continued)

14.
While I Live at the P.O., The Golden Apples and The Optimist’s Daughter are all works by what Southern author?

ANSWER: Eudora WELTY
15.
A protozoan called Plasmodium causes what common tropical disease which is fought with quinine among other drugs and whose name is taken from the Latin for bad air?

ANSWER: MALARIA
Spares
THIS IS A COMPUTATION QUESTION. What is the measure of each exterior angle of an 8 sided polygon?

ANSWER: 45 degrees
Who wrote the series of essays entitled ‘Democracy In America?’

ANSWER: Alexis DE TOCQUEVILLE
What is the name of the society that leaves Bibles in hotel rooms?

ANSWER: GIDEONs

What ‘chapter’ bankruptcy describes a situation where a person’s assets are completely liquidated and the proceeds distributed to creditors?

ANSWER: SEVEN (chapter 13 is where creditors are paid according to plan)

What is the name given to a wall built parallel to the coast to intercept incoming waves and thus protect a harbor or a shore?

ANSWER: BREAKWATER

All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

